M ox
40 5 4

2M  SXNEHY
(A3 EXI/ALSI 2 X L 8t

- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
o= 1,272,267,023 1,163,874,014 108,393,009
= 947,171,953
Xl 10,960,665
J| 46,231,752
< 267,902,653
SXE M 666,951,919 709,864,450 A42,912,531
= 478,396,942
Xl 9,093,000
< 179,461,977
FHo SXIIB (MBS /ALEI =X LB 15,639,370 17,422,830 A 1,783,460
= 4,260,000
Xl 8,855,000
< 2,524,370
HdE =2XEE =4 15,248,914 16,972,862 A 1,723,948
= 4,260,000
Xl 8,855,000
=) 2,133,914
ASI S X HHMOHE =& 216,388 482,870 A 266,482
201 et 26,560 21,000 5,560
01 At 22l 26,560 21,000 5,560
OARA=X AR O 12,000
OAMSI=SXIAIE EOIt 10,560
OAMA=XRE3 2 4,000
202 4dl 60,071 59,370 701
01 = LH A HI 17,071 16,370 701
oda =X&d =4 =2 17,071
04 = H &t H 43,000 43,000 0
OoflA& XX BXOY ¥ AL 43,000
203 YR =2l 72,000 85,000 213,000
03 Al =AY R =& 72,000 85,000 A 13,000
OA=XNSEAY =8 72,000
301 et d = 1,757 1,500 257
0B MEIERRIAEBH= 1,757 1,500 257
OMI=ESRA SAH 1,757
307 glz2+ol & 8,000 168,000 A 160,000
11T MISRASEX 8,000 0 8,000
OZ3E Atsl=XIACHE XI& 8,000
308 MtXIEHMSOIH 48,000 148,000 2100, 000
01 HXNHHNBHELS 48,000 148,000 100,000
OAMI=ZRNEE = X 48,000
FEE BA=X JFEHMH 2= 352,500 0 352,500
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AT BASTGER SN SXEHD
Hz: QX ZSAQ =2XJIE E(AA=X/AHe =X L)
@ dE 2X&EE =4 (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
SEStAtE 22IAF XIR(Z21D) 741,000 678,060 62,940
= 741,000
308 AXISHXSOoIH 741,000 678,060 62,940
= 741,000
01 AXHNNBMNEXZ 741,000 678,060 62,940
OSE A Z2IA Q124Hl K& 741,000
= 741,000
NAEXNAE HOH(=D) 13,500 0 13,500
= 13,500
307 QI2t01 ™ 13,500 0 13,500
= 13,500
11 AMISAAEE X 13,500 0 13,500
OXNAMIASXNE2AM XNSECHS H= XA 13,500
= 13,500
S23=2XNEEHA S N (=210) 3,505,500 4,957,188 N 1,451,688
= 3,505,500
308 AKX SHHSOIA 3,505,500 4,957,188 N 1,451,688
= 3,505,500
01 AIXHMBAEXZ 3,505,500 4,957,188 AN 1,451,688
OXFH XNG=X HEMA Mo 2,173,500
= 2,173,500
O=0=zAo UEFY sSANMLHA 2= 1,197,000
= 1,197,000
OAdl 22IAtY 284l X 135,000
= 135,000
KA MBI ASE XA (K E) 9,528,026 9,913,844 385,818
Xl 8,855,000
= 673,026
201 Bt 4,000 4,000 0
Xl 2,800
o= 1,200
01 AtSR 22l bl 4,000 4,000 0
OXEAMIMEBIAEXAMY =& 4,000
Xl 2,800
& 1,200
202 04d| 6,000 6,000 0
Xl 4,200
== 1,800
01 2L Y| 6,000 6,000 0
OXSAMI MEIAEXAY F=& 6,000
Xl 4,200
= 1,800
307 212t0| & 309,600 309, 600 0
Xl 219,600
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AR PAST YR SN =XEED
HM: QX SA9 2X I8t RE(AMEEX/AE 2R L L
ool HF =SXEY E4 (B9 ®R)
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 90,000
11T A EXAIEEX 309,600 0 309,600
OLJE XNAASMEIAXRAS 29 300,000
Xl 210,000
o= 90,000
OKNE - AlMOF HA22ZelAF e K& 9,600
N 9,600
308 XX EH SO0l A 9,208,426 9,594,244 N 385,818
Xl 8,628,400
& 580,026
01 AIKISHHEMNEXZ 9,208,426 9,594,244 A 385,818
OXNGAS HNHIAER XA 7,121,397
Xl 6,596,385
o= 525,012
OJIAIZHY B2 22| A X & 1,100,000
Xl 1,100,000
OALR - AlAMOF A2 22l AF K& 920,884
Xl 865,870
o= 55,014
OKXNEANSAHAENAIYE &2 XA 66,145
Xl 66, 145
SIAE &3 2913 390,456 449,968 NB9,512
MBIEXAE 29 = 390,456 401,968 A11,512
307 212t0| & 38,880 39,600 ANT20
11 A EXAIEEX 38,880 0 38,880
OSSR MIEXANE SAN EX=EY 38,880
308 XHXIEHSOIA 306,576 287,368 19,208
01 AIKISHEMNEXZ 306,576 287,368 19,208
OAl - 2 AISIEXAIE SAXN EXE 266,256
O M= 243 XS 18,000
OGN DAL XS 22,320
403 XX SRS K20l & 45,000 70,000 A 25,000
01 XIS A=2E X 45,000 70,000 A 25,000
OANEO HEIAISE XHE K& 10,000
OB A SEAIEXNS JsE22 20,000
OXZx=A MI=SXES X X 15,000
PELAAFM BHTH(AU=SX/2E) 636,000 592,000 44,000
BEHAUANY XA 636,000 592,000 44,000
BECH XNd L BEAY FA 386,000 457,000 A 71,000
201 et d| 5,000 5,000 0
01 AP 2t 2] d| 5,000 5,000 0
OLdB=Ua =&X 28 5,000
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BASXNHE= M =SXNZH
RO EMHBE (M SR/ ZHEET)
HASS NN =X & (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
o&=el XN 22,800
ORFEANE A2 HAI 2= 7,200
225X XN (=21) 4,725,000 2,344,263 2,380,737
2 4,500,000
< 225,000
308 XX EHH SOl A 4,725,000 2,344,263 2,380,737
=2 4,500,000
< 225,000
01 AXSHBLELS 4,725,000 2,344,263 2,380,737
o2d==X K& 4,725,000
= 4,500,000
< 225,000
L=0 S SAXN (=2 AE 22 XA )(=1) 2,144,390 2,042,693 101,697
= 1,501,073
< 643,317
308 XX EHSOIA 2,144,390 2,042,693 101,697
= 1,501,073
< 643,317
01 IXNHHBNEES 2,144,390 2,042,693 101,697
L=0AE 29 KE 2,144,390
= 1,501,073
< 643,317
IEZMEER Z0{(21) 129,609,257 159,957,000 30,347,743
= 115,406,762
< 14,202,495
308 XX EHH SOl A 129,609,257 159,957,000 A 30,347,743
= 115,406,762
< 14,202,495
01 AXNHHNEBAMNEES 129,609,257 159,957,000 A 30,347,743
OMASN 124,807,232
= 110,939,762
= 13,867,470
(©FNE=F=40; 3,668,975
= 3,413,000
< 255,975
(O FaFS P =0 1,133,050
= 1,054,000
< 79,050
L50 S SN (=L IISEY)(2D) 154,500 75,000 79,500
=2 103,000
< 51,500
403 MHXISHHSA=0l& 154,500 75,000 79,500
= 103,000
< 51,500
01 HXSHMA=E X 154,500 75,000 79,500
OL=0AN4A JsE22d XA 154,500
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AT BAST LR SN SXNZH
M R0 FMBST(ASZX /I ZNEBE)
g2l NASES N F0sSX &8 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 103,000
< 51,500
IaAs 3o XA (21) 892,000 976,100 284,100
2 830,000
< 62,000
308 A EHSOIA 892,000 976,100 A 84,100
2 830,000
< 62,000
01 HIXNHHNBMNEELS 892,000 976,100 A 84,100
OXRAS =& X 892,000
= 830,000
< 62,000
24 2o XA(21) 3,210,000 3,512,000 A 302,000
= 3,210,000
308 XXM SO0 A 3,210,000 3,512,000 A 302,000
= 3,210,000
01 AXHHILEES 3,210,000 3,512,000 A 302,000
OJIz=5 A 2dx&e XA 3,210,000
= 3,210,000
SE0EF0 XNEHSDNI(21) 255,060 253,200 1,860
= 255,060
307 21201 A 255,060 253,200 1,860
= 255,060
10 ALSISXAIEEE2IHEX 255,060 253,200 1,860
OXNAAHESHEH 29 255,060
= 255,060
Ssolgx0 XA (21) 101,900 74,700 27,200
= 19,500
< 82,400
201 €24 11,500 13,500 A 2,000
= 8,500
< 3,000
01 At 2t 2l 2,500 2,500 0
O=sstolg=0e XNGEE3 Mzl 2,500
= 2,500
03 &Ar2 I 9,000 11,000 A 2,000
OS&E0lgFa AAHE =3 U= 3,000
OSE0IEFe AAN2ER 6,000
= 6,000
307 glz2+ol & 18,000 14,000 4,000
11T MISRASEX 18,000 0 18,000
Se0IEF8 AM3EE W= 6,000
SEog==0 ggdx20d 29 12,000
308 XXM SO0l A 72,400 47,200 25,200

- 1656 -




AR BASXOER SN =X
Ha: ZOJZMEST(AMIEX /I ZMEEZE)
©9: HASS D HOSK o CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 11,000
& 61,400
01 AIKISHEMNEXZ 72,400 47,200 25,200
SS0IE=0XH sgEIed X3 19,950
=SS0 F=01XEH £std&idl K& 5,000
S50l F0 2dHE HNSE NS 7,200
SE0IEF0XH gusE28Y 29 XN 12,000
o=stog=0 I}AH= F=E N 15,000
SSO0IE s WAHHl XI& 2,250
O=8 010 NEEos &9 11,000
= 11,000
O220lI2 2 (220 II229EY3H) 226,276,027 223,169,027 3,107,000
= 180,778,374
& 45,497,653
o220 I AHA XK (=21D) 225,554,168 222,435,258 3,118,910
= 180,778,374
& 44 775,794
201 LBt Y| 650,000 697,500 AN47,500
2 520,000
& 130,000
01 AP 22| d| 650,000 697,500 AN47,500
ORAE - A2 650,000
=2 520,000
o= 130,000
308 XX SHHSOIH 2,899,200 3,029,194 A 129,994
=2 2,654,400
= 244 800
01 IXHHINMNEEXTZ 2,899,200 3,029,194 N 129,994
o=o 2y #2332 72,000
= 64,000
& 8,000
o9 z2d i3 16,200
= 14,400
o 1,800
OL2AH &« HOe &R 2 XS 765,000
= 680,000
& 85,000
o= 22 EM= 99,000
= 88,000
= 11,000
o9 za=0 22 696,000
= 696,000
OAHLMESF X HI| 1,251,000
= 1,112,000
o=} 139,000
403 XX SRS K 20| & 222,004,968 218,708,564 3,296,404
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2 BASNE= SN =XEED
2D EMESR(MNIZN/IIZMBER)
A2 202 2 (A2 20HII22HEESH) (2 &HH)
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 177,603,974
== 44,400,994
02 Z2J|2tS 0l CHSHCH & A HI 222,004,968 218,708,564 3,296,404
O&ZHl HE= 222,004,968
= 177,603,974
= 44,400,994
ogz=zWgR =X 221,840 213,200 8,640
201 et 9,000 9,000 0
01 AR 22l ] 6,000 6,000 0]
O09z30 LEEdH 6,000
03 A2 G HI 3,000 3,000 0
0= 20 22| AF HZG| 3,000
202 044 18,000 20,000 A 2,000
01 2L Y| 10,000 10,000 0
O9za30gR =4 10,000
04 =H 30 Hl 8,000 10,000 A 2,000
O & & X HX OF 8,000
308 XHXIGHHM SO0l & 194,840 184,200 10,640
01 AIKISHHENEXZ 194,840 184,200 10,640
HEEX olzAdl XN 105,600
odAEd X& 89,240
ol g1 4] 500,019 520,569 N 20,550
801 ollbldl 500,019 520,569 N 20,550
01 LBtofl gl bl 500,019 520,569 AN 20,550
O 0l Bl gl 500,019
282 g - HE X 21,883,760 25,168,680 A3,284,920
= 20,253,464
& 1,630,296
g 2 JNY9=EX 58 =4 50,000 50,000 0
307 2iz2to| A 50,000 50,000 0
11T AISIEXAIEEX 50,000 0 50,000
OJIANZ2ZE X |AE 2 30,000
OXN&ESH AtgEHds X 20,000
TS NALEH (2 D) 468,440 451,250 17,190
2 327,908
= 140,532
307 2Iz2t0| & 468,440 451,250 17,190
= 327,908
= 140,532
10 M SXAANEEHESIGHEX 468,440 451,250 17,190
OZ2AX&EHEH 2 468,440
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AR PAST YR SN =XEED
FH: [UI=MESFH (A ST/ =MEEE)
SE =TT IR N - CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 327,908
=) 140,532
e (=2) 17,827,040 21,273,655 A 3,446,615
= 16,777,940
< 1,049,100
308 A EHSOIA 17,827,040 21,273,655 A 3,446,615
=2 16,777,940
< 1,049,100
01 HIXNHHNBMNEELS 17,827,040 21,273,655 A 3,446,615
oxngzz XA 15,225,100
= 14,176,000
S 1,049,100
OXdXady 29 2,564,940
= 2,564,940
O X At 22l 37,000
= 37,000
NELAS3H XN (=2) 705,200 1,157,775 AN 452,575
2 656,000
< 49,200
308 XXM SOIA 705,200 1,157,775 N 452,575
2 656,000
< 49,200
01 IXNHHBENEES 705,200 1,157,775 A 452,575
oOXEHAZ 705,200
=2 656,000
< 49,200
HAusd AHEAE(2D) 660,600 2,236,000 A 1,575,400
= 528,480
< 132,120
307 21201 A 660,600 2,236,000 A 1,575,400
= 528,480
< 132,120
11T MISXASEEX 660,600 0 660,600
OXI=A THEAMHY (S22l AIY) 660,600
= 528,480
=) 132,120
22s8Use =2 g3 (22) 2,172,480 0 2,172,480
= 1,963,136
CS 209,344
307 glz2tol & 1,014,480 0 1,014,480
= 805,136
< 209,344
10 AL SXAIEEE2EHEX 64,480 0 64,480
OSLISESEAY 2 Atcll2el 2Ed X 64,480
= 45,136
< 19,344
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AR PAST YR SN =XEED
Hu: RO ZMBIE (NS ZNBS)
o g2 gy - g X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
11T M SRASE EX 950,000 0 950,000
O3 SSHEAMY 2 X 950,000
= 760,000
< 190,000
308 XX EHH SOl A 1,158,000 0 1,158,000
= 1,158,000
01 AXHHILEES 1,158,000 0 1,158,000
OsAYIIsSSEAMY 1 XH 1,158,000
= 1,158,000
MNedt 28 Ools N (SXNEHY)(MSX/ES - IS 238,380,964 251,187,418 A 12,806,454
2L0oiy)
= 147,236,097
Xl 238,000
= 90,906,867
HNEA HSEH 491,000 612,322 A121,322
NEMHME 28 =8 3,000 3,000 0
201 Let24E] 3,000 3,000 0
01 At 22l 3,000 3,000 0
OMEMHHAZ 2 3,000
CHAHEAOHE EE X 488,000 549,322 AB1,322
308 XtXIEHHSOIA 488,000 549,322 AB1,322
01 AXHHIYEES 488,000 549,322 AB1,322
OUXHIIE SEEX& 488,000
Ots=XAMEA X 23,776,770 24,914,764 A 1,137,994
= 13,907,831
Xl 238,000
< 9,630,939
2350ls AASd 92,000 92,000 0
201 Let24d] 26,000 26,000 0
01 At 2teltl 26,000 26,000 0
Oots=X2d 2Ads 24 5,000
oogole IS A 1,000
ooeolg 2s0ts ®I2 20,000
307 gl2+tol & 66,000 66,000 0
11T ALS S RAEE = 66,000 0 66,000
oogole JIS A 6,000
OAEOls RAEE2H 29 60,000
otE=sEXlN2 249 60,000 60,000 0
307 21201 A 60,000 60,000 0
10 ALSISXAIEEER2IHEX 60,000 60,000 0
OEsOls MHEXNIAEEI2 23 60,000
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M ox
40 5 4

SA=T 0142 = A
HEd 25 05 NA(SHUEHD)(MESK/LS -
OFS= X AHIA X2

- _ _ RE]
SoSN - SH(EH) - NEAY - B Ofl At o %Eﬁ HR=2
Ols =X AIE SAA 1F 11,000 11,000 0
201 gBt24d| 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
OOsS=2EXNAIE SAMX = 3,000
301 et A= 8,000 8,000 0]
09 SHAIAHI B A2 8,000 8,000 0
OWFEAX AH A 8,000
BES0ls MEotd I 245,930 220,886 25,044
308 AMXISHMSOIA 245,930 220,886 25,044
01 X HHIMNEEXTZ 245,930 220,886 25,044
OES0ls M&Eotd X& 245,930
ots24 XI& 5,263,756 6,101,948 A 838,192
202 044l 7,000 7,000 0
01 2Ll 7,000 7,000 0
O0tsZAAY =& 7,000
308 XHXIEH SOl A 5,256,756 6,094,948 A 838,192
01 AIKISHHEMNEXZ 5,256,756 6,094,948 A 838,192
O8IEs E-L-25Y Ots24 4,339,220
ogsts Olsa34A 907,936
OZ2A0lE TAIEHY |FHI 9,600
NAOISHE SN (=D) 5,646,462 5,579,087 67,375
= 4,705,386
& 941,076
308 XHXI M S0l 5,646,462 5,579,087 67.375
= 4,705,386
& 941,076
01 IAXHHIMNEXS 5,646,462 5,579,087 67,375
OX<E0otsHyH 29 5,177,571
= 4,314,642
== 862,929
OXGOISHEH S+2MY 29 271,251
= 226,044
& 45,207
OXNY0lSHEH ERQY 29 197,640
= 164,700
= 32,940
XNEotsHE 29X 230,497 153,780 76,717
308 XX SHAHSOIH 230,497 153,780 76,717
01 XHHINMNEEXTZ 230,497 153,780 76,717
OXE0tsHH 29 252 XN 181,597
OXNYOESHH SAEZ20] X& 48,900
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AR BASXOER SN =X
HM: HEA B8 0ls N (2EXNZMY)(AMEEX/EE - HELAHA)
2 Ols=EXAHA X (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
K0S HEH XK 29 (=21D) 175,000 175,000 0
= 87,500
& 87,500
307 2Iz2t0| A 175,000 175,000 0
= 87,500
= 87,500
10 M SXNAEEHESIGHEX 175,000 175,000 0
OXY0lsHH X 29 175,000
= 87,500
=} 87,500
KNAOSHEH HIE 29X (=21D) 25,214 31,196 N5,982
= 12,607
= 12,607
307 giztol & 25,214 31,196 N5,982
= 12,607
= 12,607
10 A SAANEEHESIGHEX 25,214 31,196 AN5,982
OXY90otsHdEH HOtE XIS 25,214
= 12,607
o= 12,607
NE0otsHEE 0 U WA X& 42,000 42,000 0
308 MXISHMSOIA 42,000 42,000 0
01 IXHHIMNEEXTZ 42,000 42,000 0]
OZNH FHUDAF XIS 42,000
NEOotSHE SAAL BF 7,600 7,600 0
201 gBt24y| 2,000 2,000 0
01 AP 2t 2| H| 2,000 2,000 0
OXNYOtsSHEH AL 2,000
301 et A= 5,600 5,600 0
09 SHAIAHI B A2 5,600 5,600 0
OWSsSEAI Ad 2a 5,600
Ots=2X WA XIK(=Z1) 1,378,944 1,370,880 8,064
= 1,149,120
=} 229,824
308 MXISHMSOIA 1,378,944 1,370,880 8,064
= 1,149,120
= 229,824
01 HXHHIMNEEXTZ 1,378,944 1,370,880 8,064
OXYEot=4dH OtsS=EXN DA XS 1,378,944
= 1,149,120
& 229,824
Qs Yds4E X (=21D) 692,849 621,491 71,358
= 638, 150
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AR PAST YR SN =XED
Hu: HEM 2F OS N(SXIHDY)(MIASK/2S - HSU0L)
el otssEXAHA X (&)
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
< 54,699
308 XXM SO A 692,849 621,491 71,358
= 638,150
< 54,699
01 IXNHHBNEES 692,849 621,491 71,358
ogglts 2 692,849
= 638,150
< 54,699
Qo= d2t RAXA(=21) 28,328 28,447 A 119
= 26,092
< 2,236
308 XtXIEHH SOl A 28,328 28,447 A 119
= 26,092
< 2,236
01 AXHHBIYEES 28,328 28,447 A 119
oYL=l 2R XA 28,328
= 26,092
= 2,236
Ay g N (=21) 56,814 56,805 9
= 52,329
< 4,485
308 AAIEHHSOIA 56,814 56,805 9
= 52,329
< 4,485
01 HXNHHNBHELS 56,814 56,805 9
ogadlE XA 56,814
= 52,329
< 4,485
ZOols dLLY=EExT3(21) 73,063 70,946 2,117
= 67,295
< 5,768
308 XXM SOl A 73,063 70,946 2,117
= 67,295
= 5,768
01 IXNHHBMNEES 73,063 70,946 2,117
OHMOls gLLd=EE2xs XA 73,063
= 67,295
< 5,768
dots ItE K& 18,000 18,000 0
308 XtXIEHHSOIA 18,000 18,000 0
01 XML EES 18,000 18,000 0
o= 24stE st g&=ot=2 XA 18,000
QESOE 088 B5 29X (=21) 482,802 482,802 0
= 371,387
< 111,415
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AR BASXALR SN =X
HM: HEA B8 0ls N (2EXNZMY)(AMEEX/EE - HELAHA)
2 Ols=EXAHA X (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
308 XHXIEHSO|A 482,802 482,802 0
= 371,387
& 111,415
01 AIXSHMEMNEX= 482,802 482,802 0
ORESOs O8&8 B3 29 I 482,802
= 371,387
=} 111,415
A QEOES AlEE R XK (21) 67,762 67,762 0
= 62,412
& 5,350
308 XHXIGHH SO0l & 67,762 67,762 0
= 62,412
& 5,350
01 IXHHNIMNEXS 67,762 67,762 0
OoMolEE=E K& 67,762
= 62,412
o= 5,350
OS2 XHZ N (=Z1D) 695,341 663,041 32,300
2 640,446
o= 54,895
308 AMXISHMSOIA 695,341 663,041 32,300
2 640,446
=} 54,895
01 AIXSHMEMNEX=Z 695,341 663,041 32,300
OCDA DHE X &= 695,341
2 640,446
& 54,895
OlSEXAAE JIsE2d XK (=21) 558,834 1,248,000 A\ 689, 166
= 296,317
= 262,517
402 SI2FXHE0| & 496,062 0 496,062
=2 248,031
= 248,031
01 QIZEXIE2AIE 2 X 496,062 0 496,062
OOsS=EXAAE JisE2d XN 496,062
= 248,031
o= 248,031
403 XX SRS K20 & 62,772 1,248,000 AN 1,185,228
= 48,286
= 14,486
01 AXESHHEE X 62,772 1,248,000 N 1,185,228
O0IES=EXAIE Jls2d N 62,772
= 48,286
& 14,486
OIS2ANESAE 29 464,700 464,709 A9
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AR PAST YR SN =XED
HH: Hsb Ex 0t N (SNFHD)(MI=X/ES - IEL0HL)
el otssEXAHA X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 464,700 464,709 A9
10 AL SXAIEEE 2 H EX 464,700 464,709 A9
O0SLANESAE 298 FIHXA 42,000
OO0lsLAESAIE 2 422,700
OISESAZIIA 24(=21) 868,490 686,000 182,490
= 522,910
< 345,580
307 21201 A 659,588 586,000 73,588
= 329,794
< 329,794
10 AL SXNAIEEE2EHEX 659,588 586,000 73,588
OOtsEsdEIN& 22 659,588
= 329,794
< 329,794
308 XXM SO0 A 208,902 0 208,902
= 193,116
< 15,786
01 IXNHHBNEES 208,902 0 208,902
O0lsEsd2IN& 23 140,496
= 140,496
Ostthulohols &2 2¢ 68,406
= 52,620
< 15,786
Z2oI|2 2Y 180,000 180,000 0
307 glz2tol & 180,000 180,000 0
10 AL SXAIEEE2EH EX 180,000 180,000 0
oZzHIIZ 29 180,000
IIEREXNAEH 29 257,000 209,000 48,000
307 glz2+ol & 257,000 209,000 48,000
10 ALSISXAIEEE2EH EX 257,000 209,000 48,000
ONEAEXNEEEYH 23 257,000
ots S8 AMUIA(Z1) 5,270,000 5,250,000 20,000
= 5,270,000
308 XXIELHSOIA 5,270,000 5,250,000 20,000
= 5,270,000
01 AXHHILEES 5,270,000 5,250,000 20,000
OO0tz sgMHlA XI& 5,270,000
= 5,270,000
We start Ot 29 540,000 840,000 300,000
308 MXIEHMSOIH 540,000 540,000 0
01 HXNHHBHELS 540,000 540,000 0
OWe start OIS A XI& 540,000
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EAEXHE=
HNEd 22 ot X (BXE
OFSSXAH A K&

= A

4 ZH

CEAE S
FH)(MEI=X/ES -

=0

=

/vl)

(=}

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
2 - IIHLEOIS AMelXlg XNJAANY(=21) 6,384 6,384 0
= 5,880
< 504
308 AHAIEHHSOIA 6,384 6,384 0
= 5,880
= 504
01 HIXNHHNBHELS 6,384 6,384 0
oYY - IIER/AEOES Xz K& 6,384
= 5,880
< 504
Helolotd A FEoI Tt R (=7 1) 238,000 176,000 62,000
Xl 238,000
403 X SHHE A0l & 238,000 176,000 62,000
Xl 238,000
01 XM AZ2EE 238,000 176,000 62,000
OB oIt IANE olZet RA=H(CCTV) K& 238,000
Xl 238,000
Ot S8 MEIAXIA 100,000 0 100,000
403 MHXISHEA=201H 100,000 0 100,000
01 X SHHAN2E= 100,000 0 100,000
OLEEAERE 2I28Y XA 100,000
EFMHA Z35t 214,113,194 225,660,332 A 11,547,138
= 133,328,266
< 80,784,928
EAY B 15,430 15,127 303
201 Let249] 8,000 8,000 0
01 At 22/l 8,000 8,000 0
oOEsEMAZ: 29 8,000
202 Od4dl 7,430 7,127 303
01 = LH o4 4l 7,430 7,127 303
ESMY =& 7,430
T SHSEXNJHE 22 (=21) 312,000 312,000 0
= 156,000
< 156,000
307 21201 A 312,000 312,000 0
= 156,000
< 156,000
10 ALSISXAIEEE2GHEX 312,000 312,000 0
T S0segXadye 29 N& 312,000
= 156,000
= 156,000
Helold nd 48X (=1) 59,396 43,396 16,000
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D EASTHY = 2M  SXNEHY
&l Ot

HEM 25 05 NA(SHEHD)(MESK /LS - HSL04)
B AEIA 25 (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Ei HR=2
= 29,608
= 29,698
307 2iz2to| A 59,396 43,396 16,000
2 29,698
= 29,698
11T AISIEXAIEEX 59,396 0 59,396
O0E0E W 248 X 59,396
= 29,698
& 29,698
Helold gst=H2 XA 80,200 80,200 0
308 NXICSHMSOIA 80,200 80,200 0
01 IXHHIMNEXS 80,200 80,200 0
OMASSE Ols Yst=EHIZ2 NS 80,200
Helold S&aea K& 217,400 238,100 N 20,700
308 XX SHHSOIH 217,400 217,400 0
01 AIXSHMENEXZ 217,400 217,400 0
ONe ol & & X 217,400
20l SHIMA X (=21D) 498,127 547,912 N49,785
2 383,175
= 114,952
403 XX SHHS K20 & 498,127 547,912 N49,785
= 383,175
= 114,952
01 IS A2 X 498,127 547,912 N49,785
OO0l sSH= 90,350
= 69,500
& 20,850
ONEold M= 351,000
= 270,000
o=t 81,000
ooelold &y 16,900
= 13,000
= 3,900
OZO0HOF HE 2= 39,000
= 30,000
& 9,000
O &0 &H 22 877
= 675
= 202
O201Z Y HRHL X 1,440,800 1,485,440 144,640
308 XAHXIGHH SO0l & 1,440,800 1,485,440 N44 640
01 AXHHNIMNEXS 1,440,800 1,485,440 N44 640
Oeold &I MM X3 1,440,800
Helold SAMX 824 WD 45,000 45,000 0
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M ox
40 5 4

L BA=T LR = A
& Ol X (SXFHMD)(AEST /LS -

CEAE S

jI.ZF_DI

—/ =

2. 2A B BS(3) - MEAY - B 01l & o4 SSa Hm=2
307 2Iztol ™ 30,000 30,000 0
11 AISI S XA E = 30,000 0 30,000
ooeold 222 M A48 2 s XA 30,000
308 AXIEtH S0l A 15,000 15,000 0
01 AXNSHHBAEES 15,000 15,000 0
oOZdFNHeold eot=stal 15,000
BESEEsNEIAXRA(ZD) 29,229,938 28,521,715 708,223
= 22,484,568
< 6,745,370
308 XXX SOIA 29,229,938 28,521,715 708,223
= 22,484,568
= 6,745,370
01 AXSHBELS 29,229,938 28,521,715 708,223
OO 0ld SALA 21AHl XI& 29,229,938
= 22,484,568
= 6,745,370
SFOISENJAEH 28 A& 15,000 165,000 A 150,000
308 XXM S0 A 15,000 15,000 0
01 AXNSHHBLAEES 15,000 15,000 0
OXNYGSOIEENAAEH 28 XA 15,000
gdeoE2ss NA(=21) 90,315,423 98,689,200 ANB,373,777
= 77,755,000
= 12,560,423
308 XXM S0l A 90,315,423 98,689,200 ANB,373,777
= 77,755,000
= 12,560,423
01 AXSHHBLEEES 90,315,423 98,689,200 ANB,373,777
ogsotEsz XN& 90,315,423
= 77,755,000
== 12,560,423
ANZIXISEE BESA(21) 269,851 52,800 217,051
= 207,578
= 62,273
308 XXM SOoIA 243,851 52,800 191,051
= 187,578
< 56,273
01 AXSGHBELS 243,851 52,800 191,051
OAZIEE EFAY 243,851
= 187,578
= 56,273
403 XAXISHM S K201 A 26,000 0 26,000
= 20,000
= 6,000
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AR BASXALR SN =X
HH: Hsb Ex 0t N (SNFHD)(MI=X/ES - IEL0HL)
Sl ESAHA 25 (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 26,000 0 26,000
OANLAXNEE ALY 26,000
= 20,000
< 6,000
Sy B2 K& 53,100,000 53,100,915 A915
308 XXM SOIA 53,100,000 53,100,915 A915
01 AXHHBLEES 53,100,000 53,100,915 A915
Oxclitd 252 K& 53,100,000
dgssd NA(=12) 30,160,508 33,014,400 A 2,853,892
= 25,966,000
< 4,194,508
308 MtXIEHMSOIH 30,160,508 33,014,400 A 2,853,892
= 25,966,000
< 4,194,508
01 HXNHHBHELS 30,160,508 33,014,400 A 2,853,892
oitzgds=4 XA 30,160,508
= 25,966,000
=) 4,194,508
ol X(=1) 5,358,899 4,523,070 835,829
= 4,122,230
< 1,236,669
308 X EHSOIA 5,358,899 4,523,070 835,829
= 4,122,230
= 1,236,669
01 HIXNHHNBNEES 5,358,899 4,523,070 835,829
oogolsd X 5,358,899
= 4,122,230
< 1,236,669
Z3ENH0E XA (=) 2,841,769 3,794,700 A 952,931
= 2,185,976
< 655,793
308 XXIEHHSOIA 2,841,769 3,794,700 A 952,931
= 2,185,976
< 655,793
01 AXHHILEES 2,841,769 3,794,700 A 952,931
OZ2380eo0ld XN 2,841,769
= 2,185,976
S 655,793
HEOHOH s E|2 104,000 163,800 A 59,800
308 MtXIEHMSOIH 104,000 163,800 259,800
01 HXNHHNBHELS 104,000 163,800 59,800
OHIZHOL EutE: B2 104,000
22 ZUHEH 2L XA (21) 49,453 48,875 578
= 38,041
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CEAE S

AT BAST LR 2 A
HE: HEL BT OIS N (SNFHDY)(MSST/LS - HEL
Sl BEHUIA 25

/vl)

(=}

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HInES
=) 11,412
308 XXM SO A 49,453 48,875 578
= 38,041
& 11,412
01 IXNHHBNEES 49,453 48,875 578
OR2 2UHEH 23 N 49,453
= 38,041
< 11,412
HYSHAH (SXF =) (IIEHIIE 128,173 127,173 ,000
= 43,612
< 84,561
A (d2=0IIS2ESEsAH) 63,973 62,973 ,000
= 43,612
< 20,361
o230 A2A 2Y(=21) 63,973 62,973 ,000
= 43,612
< 20,361
101 @124 dl 63,973 62,973 ,000
= 43,612
< 20,361
03 RIAHAZ2 2R E > 63,973 62,973 ,000
Oz &alA(2Y) 55,333
= 43,612
< 11,721
Oz sHEEAL &S 8,640
JlE &3l 64,200 64,200 0
2FA2Y JI23H 64,200 64,200 0
201 ¢er24l 42,575 42,575 0
01 At 22l 41,375 41,375 0
ORNM2Y AMR2eltl 41,375
02 2324l 1,200 1,200 0
ORNMEY 3329l 1,200
202 O4dl 11,425 11,425 0
01 = LH 4 Hi 11,425 11,425 0
ORM2E =UHH 11,425
203 R =& 10,200 10,200 0
01 JI22g =8 6,000 6,000 0
o= 6,000,000& 6,000
04 FNSEHE=LH| 4,200 4,200 0
©302! Ol ct 350,000& =128 4,200
HEeES(SXNEH) (MBS /FHLHSKH) 22,630,518 22,630, 166 352
WEHHXZ 22,630,518 22,630, 166 352
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M ox
40 5 4

D EAERNNE=

= A

P HRES(SXNEHY) (AT /FHAHSXH)

CUHEHAXE

AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2

odz=a0lIa NA 22,330,518 22,130, 166 200,352

701 JIEtel HSHES 22,330,518 22,130, 166 200,352

01 JIEtSl HEES 22,330,518 22,130, 166 200,352
Odz=20II=25E3 =3 22,330,518

Ma=X012 K& 300,000 500,000 A 200,000

702 JI2EEZS 300,000 500,000 A 200,000

0MNII3HEES 300,000 500,000 A 200,000
OA2EXIIN= 300,000
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